[image: image1.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


S31SD
Suzuki GSX-R1000 2009-2011
	Kit for the left side
	
	Kit for the right side

	ID
	Description
	Cat.no.
	pcs
	
	ID
	Description
	Cat.no.
	pcs

	1
	SDM adapter (cylinder)
	DV12
	1
	
	1
	SDM adapter (cylinder)
	DV12
	1

	2
	Bolt M10x60x1,25mm
	896
	1
	
	2
	Bolt M10x60x1,25mm
	896
	1

	3
	Dural. cylinder d=10mm
	108
	1
	
	3
	Dural. cylinder d=3mm
	284
	1

	4
	Bolt M10x70mm
	851
	1
	
	4
	Bolt M10x70mm
	851
	1

	5
	Steel adapter
	570
	1
	
	5
	Steel adapter
	569
	1

	6
	Tape 3M
	-
	1
	
	6
	Tape 3M
	-
	1

	7
	Poly nut M10 d=20mm
	X10
	1
	
	7
	Poly nut M10 d=20mm
	X10
	1

	8
	Washer (string)
	801
	1
	
	8
	Washer (string)
	801
	1

	9
	SDM adapter
	537
	1
	
	9
	SDM adapter
	537
	1

	10
	Flat washer M8
	802
	2
	
	10
	Flat washer M8
	802
	2

	11
	Bolt M8x25
	815
	2
	
	11
	Bolt M8x25
	815
	2


[image: image2.jpg]



[image: image3.jpg]



[image: image4.png]














Instrucitons:

1. Remove fairing of motorcycle.
2. Remove original Bolt M10 from the frame.

3. Stick 3M tape (ID6) on the steel adpter.

4. Insert dural cylinder (ID3) between steel adapter (ID5) and frame of motorcycle. Tighten steel adapter using bolt M10 (ID2).

5. Prepare SDM adapters (ID1+ID9). Fit these adapters using bolt M10 (ID4 + string washer ID8).
6. On the end of bolt M10 (ID4) mount poly nut (ID7).
7. In the end fit protector using two M6 bolts (ID5 + washer ID6).
8. We recommend to use the glue on all threads (medium strong).
(note: longer cylinder (ID3) is on the left)

ID7








ID9





ID1





ID10+ID11





ID4+ID8





ID3





ID5





ID2





ID6








1

